PhF*oFI5

REERR

A10156 | CLR & 14

o
NEHERERDEEZEXR/INRN, =
@ [A10155CLR 2 E L] ICTA10312R 215y LR, 2
@@= D > XL, 8
mEI—N A10156 CLB 4% 13 B ()
HA4X | B | BOR |, ARV b RBEIL | ALK
2k | S @ | EBEEAE | t | C LRI D H TR @
0010 15A Y 25.7 20| 25 | M6x25 | 26 | 67| W% | 200
0024 20A Y 31.2 20|25 | M6x25 | 26 | 70| W% | 200
0039 25A 1 37.6 20 25 | M 6X25 | 26 73| W% 200
0043 2A | 1% 46.3 20| 25 | M 6x25 | 26 | 78| W% | 150
0058 40A | 1% 52.2 20| 25 | M 6x25 | 26 | 81| W% | 150
0062 50A 2 64.1 20 25 | M 6X25 | 26 87| W% 120
0077 65A | 2% 79.9 23|25 | M8x25 | 26 | 94| W% | 130
0081 80A 3 92.7 23|25 | M 8x25 | 26 | 100 | W3 130
mm 0096 | 100A 4 118.3 23| 25 | M 8x25 | 26 | 113| W% | 100
e 0109 | 125A 5 143.8 32| 32 | M10x30 | 36 | 147 | W'%
~ 0113 | 150A 6 170.2 32| 32 [ M12x45 | 36 | 159 w
] 0128 | 200A 8 221.3 3.2 | 32 | M12x45 | 36 | 196 | W'

2

!

I

I

EHEFIC &Y EERE R
| BEaBabaUETO
TIHBLLS

F@mb
BAIESERA

A10203 | A7 CLRZ 1#

HERERERDOEREXR/N R,
@ [A10202X 7> CLmZ | L JIC[A0316R 7> mA L ]2ty b ULZ®E &R,

(100A%7T)
@SUS 3048,
mEFEI—F A10203 X7 CLAmZ 1+ B4 (nm)
PAX | Y4 X | FORE | o pppr 4 FEATARIL B ARV | AL
0011 15A Y 25.7 20] 25 | M6x25 | 26 | 67| W% | 230
0026 20A Y 31.2 20|25 | M6x25 | 26 | 70| W% | 200
0045 25A 1 37.6 20|25 | M6x25 | 26| 73| W% | 180
0050 320 | 1% 46.3 20|25 | M6x25 | 26 | 78| W% | 200
0064 40A | 1% 52.2 20|25 | M6x25 | 26 | 81| W% | 150
c 0079 50A 2 64.1 20|25 | M6x25 | 26 | 87| W% | 130
0083 65A | 2% 79.9 20|25 | M8x25 | 26 | 93| W% | 120
[ 0098 80A 3 9.7 20| 25 | M 8x25 | 26 | 100 | W% | 100
iﬂi 0115 100A 4 118.3 20| 25 | M 8x25 | 26 | 113| W% 90
0120 | 125A 5 143.8 3.0 | 32 | M10x35 | 36 | 145 | Wi,
—— 0134 | 150A 6 170.2 30| 32 | M12x45 | 36 | 158 | W%
Q qx 0149 200A 8 221.3 30| 32 | M12x45 | 36 | 198 | W'

I

I

!

BRI &Y EEERD
| BB abHUETO
TIHRBLLS

@b
BEIEEEAT

2 Bt




